ABF IR E- - FERF - FPF -5 20§ - 2 s lcFLEBREE

FL% D Lol wA T EER
- BRI BEAY CENEGEPER(FHLA E5A)

1C )i %ﬂ@ﬂ-zé Ervi- BH - pagE ? OF2L @27 OO

2 C ) Toavi- BENaE £z 28k ? D848+8 (2617 (3300+5 @297+3

3( ) ~4hdsEe P AT OAINEF 9 AEET FOREF2DO3 ) Qlbas Q3 A4
b & 4h

AC ) APFI2A RRABE NP D3R @ LR R a2 FREEF 58?7 D2~
b~ @60 D72~

5(C ) TaAE? ety > e Fht 2055 QBFOMEEDsL thk ko

BB F M mEEE ()Y (FH2A 2 484)

L. x40 = ( ) 50x20 = ( ) 8x200 = ( ) 320x2 = ( )

2. T6x6, eiffst T60x60, e - > ( ) B0~

3. L Elfr L B A e ARERIF S BA DT AT o i Fh-? B[ Y v
[ 5%« 15448 (%1 2 134548 PRLERLIT

4. 9070% = = ( ) 24 ( ) A eaATEA = ( ) EA .

5. 13 A & 5 B E100F 2 > oigH &5 24 ( ) 4

6. 872:8= ( )5 108+9= ( )

7. 3400% < +4600% = = ( ) &

8. (Dmatx=(C HmwC H)»C )

* 24P 4] £ o A ( ) B ( ) A o
()24 4m BT = ( ) B ( ) Ao

9. B E B[JEIT > 20 s FBNT A= BRD5 f (ZFE)
B ( )
i - Z: ( )
A LR )
lem
cm

0.5 f Fdi- Bt BlAp i 6 f

7 Ak eaE >3



CEEF(ERLIA 2 14R)
Dh o= 724 30 ¥

= ( ) F2 4 ( ) ¥
= ( ) ¥4

@08 = ()

8xd0 = ()

4x800 = ( )

® o~ PEAE S
(1) 807 + 7 =

(3)50 + 3=

(5) 9xd7=

%)

‘iﬁ@?%f?v“%gi

LA | AR, |

ACBTHEIGFRES2 F R

._.
ok
£
«~

VX p (78 D
(P

kBiA\

2. ZF%xy 118 =M}

(F T LRI (S

frend 9

P 1] EAD A EGACR S  T R 2pE 20 A TR

Aok FIIE B S R B RS A S

o B F I A

@3 t—70 mt
= ( ) m—T70 mt
= ( ) ml

@D7+5= ( ) e ( )

70+5= ( ) e ( )
700+5= ( ) e ( )

c o (FHL2 4 0 2 12 4)

(2) 70 x 50=

(4) 262230%F 2 +232270% 2 =

(6) Tx82=

Ry FRA(FE2A S R 124)

1 W26 o 21p #2705 2

( ) > ( ) > (
2. Bl755 # % hE( )
3. BA)m i E] A ( )

(%334 2 94)

#0500 =~

N ’;\“ E”f‘-”}l—; Eb

) > (

FE;}Y 7 f@;’( 1’5’—}7‘;_@2&;1]

Ll o GRERBRAP B



